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Umocnovani jednoclent

znalost vzorc(: /l(a")m = a"‘m (a b)y* = a"-

~ Vzorové pnklaﬁy

f-a—w i s g

Gt xteys }
(X2)6 = x12
( 3)5 = x10. y15 i
W= —125x° | g

v

Matematlcka rozcwcka
1) (x*)° =

2) (2x3)° =

3) (—x°)% =

4) (4x3)% =

5) (—11x%)? =
6) (xy)® =

7) (Py*)? =

8) Bx*y*)* =
9) (—3x2y5)* =
10 (—3x%9°)® =
11) (x*)7 =

12) (2x3)* =
13) (—x7)% =
14) (4x2)3 =
15) (—11x3)2 =
16) (x-y)’ =
17) (x*y*)* =
18) (3x*y°)3 =
19) (—3x3y*H)* =
20 (—3x3y1H)3 =

f
b |
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Lo Umocrovani jednoclend
znalost vzorcux (a")m = a"'m 7 /i(a b)n,w a"_: pt
et 1; IR
Vzorové prik!ady
{ (X y)3 — X y3
L ()8 = x12

(x2y3)5 = x10. 15

SN = —125x° ;
Matematlcka rozcwcka

frgTET—

1) x*)PP= ¥ “
2) (2x3)5 = 2.5,(*; 32 ¢
I'3) (—fx5)3 & l'"‘?:" ﬁi%

4) (4x3)% = 4/“7 - 64x7
['5) (~11x%)2 = 127 <€

6) (x-y)°= x° 75

7) o3y = x5at

8) (3x*y?)? = J7x"

o) (—3x2y5)* = &1 47 /?

10 (—3x%y°)° = - X ,?

11) (x47 = x”

12) (2x3)* = 204" = 16 X

13) (%73 = - "

14) (4x2)3 = ffa-xé: 6ix°

15) (—11x%)2 = 214"

16) (x-y)" = «* #

17) (x3y?)* = 5 B8

18) (3x2y%)3 = 27 xﬁ? a

19) (—3x3y%)t = L7« ”7”

20 (—3x3y4)3 — ’Z?”X?/gm

q

12



Umoctiovéni dvojélenu podie vzorce (A + B)? a (A - B)?

znalost vzorcl
(A+B)° =A%+ 2AB + B
(A-B)* =A?-2AB + B

Vzorové piiklady: (o W) o« * L% 8
(b\-¥)" v ¥ “'\’z " -
‘x+9‘_)2=x2+18)(+81 (‘)\*0\\ = (\\\ % e W

(-‘-L\z 5
(x-9)" =x"-18x + 81

Gan B )
{4x + .{Y ) =16x°+ 40xy +25 y*

Lo b) 2 2 2
(4x -5y ) =16x"-40xy+25y

Matematicka rozcvicka
1) (x+5) =

2) (x-3)*=
3) (2x+1) =
4) (3x-3)* =
5)(5x+11) =
6) (2x+y)* =
7) (x—3y)* =
8)(3><+2y)2 =
9){9x*-y)* =
10) (7%* - 2y®)? =
11) (x+4)* =
12) (x -2) =
13) (3x+1)* =
14) (x-2) =
15)(4x+12)* =
16) (3x+y)? =
17) (x+4y)* =
18) (2x+3y)? =
19) (7x*- y)* =
20)(6x3— 3\,(2 ) =
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